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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any five questions, selecting at least two from each section.

3. Answers may be written in Hindi or English but the same medium should be used
throughout the paper.
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Section—‘A’ (¥ - ‘&)
1. How do you classify economies as developed and underdeveloped? What are the

characteristics of underdeveloped economies? Explain with reference to Indian

experience. Ce o 16+9)
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2. Economic growth and economic development are related but different concepts.

Explain clearly. What are the factors in economic development? (5+10)
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3. What are the objectives of planning in India? Have the objectives been fulfilled?

(15)
WRE A A D T I 27 R I el W fwar www 27
4. Writé short notes on any two of the following:
(1) Sustainable Development
(1)) Human Development Index
(1) Internal and External Sources of Capital
(iv) Report of latest Finance Commission (7.5+1.5)
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Section—B’ (31— ‘@’)

5. Explain the salient features of 1991 industrial policy of India. (15)

WRA 1991 H AR A & RRward s

6. Distinguish between small, micro and medium enterprises. What are the arguments
in favour of small scale industries? What are the problems faced by these industries.
(3+6+6)
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7. What is the nature of balance of payments problem in India? What is required to _

solve current account deficit problem in India? (7.5+1.5)
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8. Write short notes on any two of the following:
() Causés of Inflation in India
(i) Role of monetary and fiscal policies.
(iii) Trend in Savings and Investment in India since 1951 |
(iv) Role of Public Sector (7.5+1.5)
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